
6 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

1 

A11SD 
Aprilia Caponord 1200 2013- 

 
Mounting Kit - Left Side: Mounting Kit - Right Side: 

          ID Description Cat.No Pcs 

 

ID Description Cat.No Pcs 

 1 Moto adapter 32 1 

 

1 Moto adapter 32 1 

 2 Bolt M8x25 815 2 

 

2 Bolt M8x25 815 2 

 3 Washer 800 2 

 

3 Washer 800 2 

 4 Nut M12 811 1 

 

4 Nut M12 811 1 

 5 Dural. SLD carrier 537 1 

 

5 Dural. SLD carrier 537 1 

  

6 

Stainless steel rod 

12(1,25)x430x30x30 - 1 

 
To connect the left and right sides, the mounting kit includes a stainless steel rod ID.6 with 

a length of 430 mm. 

 

Mounting instructions : 

 

1. Remove original bolt M12 from the frame. 

2. Insert the stainless steel rod ID.6 into the motorcycle frame. 

3. Slide the adapters ID.1 on the left and right side.  

4. Slide on the dural. SLD carrier ID.5 and tighten it with the nut ID.4 on each side.  

5. Install the slider and secure it using the bolts ID.2 with the washer ID.3. 

 

Warning: We recommend using medium strength (blue) thread glue during 

assembly. 

 

 

 



6 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

2 

 

3 

2 

1 1 

4 

3 

2 

4 

5 

5 

6 


